

Resuelve el ejercicio de jerarquía de las operaciones

$$6 : 2 + 8 \times 4 - (3 + 2 + 1) \times 5 =$$

$$(10 + 1 + 5) : 8 + (80 + 40) : 60 =$$

$$(34 : 2 + 3 \times 3 - 5 \times 2 \times 2) : 6 - 1 =$$

$$(7 + 4 + 3) - (8 + 2) + (11 + 6) : 17 =$$

$$(28 : 7 + 1 - 4) \times 10 + (5 \times 8 - 40 : 2) - 15 =$$

$$(2 + 5 \times 5) \times 2 - 18 \times 3 =$$

$$15 - \{[27 - (50 - 32)] \times 5\} : 3 + 2 =$$

$$1 - [(3 + 2 \times 20 - 4 \times 3) - (7 + 9 : 9) \times 4] : 7 =$$

$$3 \times 2 + (8 : 4 + 9 : 3) \times 5 - (6 : 2 + 44 : 4) : 7 =$$

$$(3 \times 2 - 5 \times 0 + 3 \times 3 - 17 : 17) \times 2 - 24 : 2 =$$